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Ba/Eco-101(N)

20109
(1st Semester )
ECONOMICS
Paper No. : ECO-101

( Microeconomics—I )

( New Course )

( PART : A—OBJECTIVE )

( Marks : 25)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 15)

A. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

1. Who among the following economists is called
the Father of Economics?

(@ Adam Smith ( )
(b) Alfred Marshall ( )
(¢ J.S. Mill ( )

(d) L. Robbins ()

/s




( 3)

S. Law of variagble Proportions ig also

(@)

known as

)
)

()

law of increasing returns

(b) law of constant returns

(¢) law of diminishing returpg
(d) None of the above ()

The least cost factor combination is explained
with the marginal rate of technical substitution
(MRTS) and price ratio of two factors when

(@) MRTS,y = % ()
(5) MRTS,, = % ()
(c) MRTS,, > i_; ()
px
S — ( )
(d) MRTS,, < -

7. Opportunity cost of anything is

(a) the  alternative  that has  been
foregone ()

(b) the alternative that has not been
foregone ( )

(c) the next best alternative ()

(d) None of the above ( )

Ba/Eco-101(N)/5



8. Which of the followin
U-shaped?

(a) The AVC curve
(b) The AFC curve

(c) The AC curve ( )
(d) The MC curve ( ) |
9. The Paretian welfare economics 18 based on

dividual may be considered to be

(@) an in :
of his economiC

the best judge
welfare ()

(b) an individual may not be considered to
be the best judge of his economic

welfare ( )

() an individual may be considered to
be inferior judge of his economic

welfare ( )
(d) None of the above ( )

10. According to Pigou, the study of welfare
economics ignores the

(a) economic variables ( )

(b) non-economic variables ()

(c) general variables of
consumption ()
(d) All of the above ( )

Ba/Eco-101(N)/5



(6)
(7))
sectioN—1I oo
. Stati ;
( Marks : 10 ) B

C. Wri
it short notes on any five of the following : 2x5=10

1. Scarcity definition of Economics

Ba/Eco-101(N)/5
Ba/Eco-101(N)/5



(9)
(8)

4. Consumer surplus
easoning

f r
3. Deductive methods ©

Ba/Eco-101(N)/5 Ba/Eco-101(N)/8



(10) (11

6. .
5. Compensated demand Factor substitution

Ba/Eco-101(N)/8



(13 )
(12)

8. Implicit cost

7. Marginal product

B 5
Ba/Eco-101(N)/5 a/Eco-101(N)/



(14)
(15 )
10. Cardinalist criterion of socia]
1al welfare

9. Private cost and social cost

*kk
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2019

( 1st Semester )

ECONOMICS

Paper No. : ECO-101
( Microeconomics—I )

~ ( New Course )

Full Marks: 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 45)

The figures in the margin indicate full marks
for the questions

UNIT—I

1. (a) Define 'Economics. Discuss the basic
economic problems. 2+7=9

Or

(b) Xhat.is elastici_ty_ of demand? What are
e different methods of measuring it?
1+8=9

20L/5a
( Turn Over )



(b)

(®)

4. (a)

(b)

20L/5a

(2)

uni—II

r can attain
pow a consumer
S +h the help of indifference

equﬂlbnum wl
curve analysis- 9
or
Explain Hicks’ theorem of income effect
with a diagram- 9
unrr—I1I
Discuss Cobb-Douglas ~ production
function. 9
or
What is  production function?
Distinguish between returns to a factor
and returns to scale. 2+7=9
UNIT—IV
Why is the long-run cost curve flatter
than the short-run cost curve? Explain. 9
Or
What do
of scale?ygils::::serstzjnd by economies
economies of scale Fek’ nd ‘pecunialy
: 1+8=9
( Continued )

(3)

UNIT—V

5. (a) Define welfare economics. Explain the
2+7=9

scope of welfare economics.

Or

e following :

(b) Write short notes on th
4Y,%2=9

(i) Problems in measuring  social

welfare
(ii) Bentham’s criterion

* K Kk
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Ba/Eco-301

20109
(3rd Semester )

ECONOMICS

Paper No. : Eco-301

( Macroeconomics—l )

( PART : A—0BJECTIVE )
. (Marks : 25)
The figures in the margin indicate ﬁill marks for the questions
SECTION—I
( Marks : 15)

A. Put a Tick M mark against the correct answer in the
box provided : | - 1x10=10

1. The circular flow of goods and incomes shows
the relationship between

(a) income and money |
(b) wages and salaries O
(c) firms and households O
(d) goods and services O

/60



(3)

(2)
5. The val
. ue of
5. GDP differs from GNP because income is APC before the break-even level of
(a) GDP = GNP - net factor payments from a0
abroad O >1 O
(5) GNP = GDP — net factor payments  from (b) <1 -
abroad ] ©
: c) =
() GDP = GNP - capital consumption 1 O
allowances O [d) =0 O
(@ GNP = GDP - capital consumption
allowances O 6 T
. The consumption function is also called the

theory, the level of

d primarily by the (@ MPC O

3. According to classical
employment is determine

(@) quantity of money O (b) MPS 0
(b) prices and wages O ©

propensity to co
(c) level of aggregate demand for goods and MBS o
i (d) propensity to save O

SErvices O

O

(d) interest rates
7. According to the classical theory of interest, the

Keynesian Economics became popular because
equality between savings and investment is

4.
it was able to explain
brought about
(a) stagflation in the late 1970’s O & out by
(b) demand pull inflation in the 1960’s O (@) consumption o
(c) low growth rates in the 1950’s O (b) rate of interest O
(d) the prolonged existence of  high (c) income 0
unemployment during the Great
Depression (d) propensity to save O

Ba/Eco—301/60 Ba/Eco-301/60



8.

10.

(4)

neo—classical
Which theory is called 28 the
theory of rate of interest?
(a) Keynesian theory o
O

(b) Liquidity preference theory

(c) Time preference theory O
(d) Loanable funds theory O

In the IS-LM model, the goods market
equilibrium requires equality between

(a) saving and investment O

(b) demand for and supply of money O
(c) demand for and supply of labour O
(d) consumption and investment O

Investment which does not change with the
changes in income level is known as

(a) induced investment O

(b) inventory investment 0
(c) residential investment 0O
(d) autonomous investment 0

1. That part of personal income which is left

behind gfter payment of personal direct taxes is
called disposable personal income.

(T / F)

2. J. B. Say denies the possibility of general
overproduction.

(T / F)
3. Consumption function expresses the relation
between income and investment.
(T / F)
4. The classical theory of interest assumes full
employment of resources.
(T / F)
5. The value of investment multiplier is equil to

MPC.

(T / F)

Ba/Eco-301/60



(6) v
(7)

sectioN—II 5
. G
( Marks : 10) Teen accounting
C. Answer/Write short notes On any five of the
2x5=10

following :
1. Distinguish between GNP and NNP.

Ba/Eco—301/60
Ba/Eco-301/60



cal theory of

. si
ptions of the clas 4. Effective demang

3. State the assum
employment.

301/60
Ba/Eco-301/ Ba/Eco-301/60



(11 )
(10)

relipansie fua theory of interest
sis
5. Relative income hypothe

Ba/Eco-301/60
Ba/Eco-301/60



(13
(12)

| 8. Wage-price ﬂcxibility
7. MEC

%k
Ba/Eco-301/60 Ba/Eco-301/60 20L—2800




Ba/Eco-301

2019

( 3rd Semester )

ECONOMICS

Paper No. : Eco-301

( Macroeconomics—I )
Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks: 45)

The figures in the margin indicate Sfull marks
for the questions

1. Enumerate the factors that determine the
size of the national income, What are the
fiifﬁculties in the estimation of national
Income? 3+6=9
Or
Explain the balance of payments account. 9

2. Explain the determination of equilibrium
leve] of output and employment with the help
of the aggregate demand and aggregate
Supply functions. 9

201,
/60a ( Turn Over )

;



(2 )

Or
mand.” Justify the

g its OWN de
ds was it criticized

reate
oun

t. On what £r

\\'”PP]\ {
stm(‘m(‘n
by K(’\"I‘I(’S?

9

Keynes' psychological law  of

n spending.
Or

esenberry effect and

3. Explain
9

consumptio

give its

[llustrate the Du
6+3=9

criticisms.
n the modern theory of interest.

Or
the Keynesian theory of

4. Elaborate O

Critically explain
interest.

9

rking of investment multiplier
analysis
5+4=9

5. Explain the wo
and its effectiveness in the economic

of LDCs.

'Or
Distinguish between Autonomous
investment and Induced Investment.

* k&

e Ba/Eco-30"



ubject Code : Ba/Eco-501

BA / BSc / BCom / BBA / Bep |
sth  Semester End

Term i
Examination, 2019 '

Subject

...........................

..........................................

INSTRUCTIONS TO CANDIDATES

1. The Booklet No. of this script should be
quoted in the answer script meant for

descriptive type questions and vice
versa.

2. This paper should be ANSWERED FIRST
and submitted within 1 (one) Hour

of the commencement of the
Examination.

- While answering the questions of this
booklet, any cutting, erasing, over-
writing or furnishing more than one
answer is prohibited. Any rough work,
if required, should be done only on
the main Answer Book. Instructions
given in each question should be

followed for answering that question
only.

Signature of
Scrutiniser(s)

Signature of
Examiner(s)

Booklet No. A 133

To be filled in by the
Candidate

: BA / BSc / BCom / BBA / BCA
§5th Semester End Term:g

Examination, 2019

..................................
...............................
...................................

......................................

! DESCRIPTIVE TYPE

Booklet No. B

..........................

.
......................................................

Signature of
Invigilator(s)

/105



Ba/Eco-501

20109

( Sth Semester )

ECONOMICS

Paper No. : ECO-501

( Indian Economy—I )

( PART : A—OBJECTIVE )
( Marks : 25)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks: 15)

A. Choose the correct answer and put a Tick (v) mark
against the brackets provided : 1x10=10

1. India accounts a total geographical area of
(a) 3342243 sq. km ( )
(b) 3287263 sq. km ( )
(c) 3182264 sq. km ( )

(d) 3211257 sq. km ()

/108



(2)

cgistered the highest

. ja has
Which State lnv:&dfs ver 2011 Census?

2. X
populatlon

)
(@ Uttar pradesh (

() Maharashtra
() Madhya Pradesh )

@ Bihar ()

3. NREGA was renamed as MNREGA on

(@) 2nd October, 2008 ()
(b) 2nd October, 2009 ( ).
(c) 2nd November, 2008 ()

(d) 2nd October, 2010 ()

What i i
tis the consequence of price rise in India?

(@) Effects on economic development

()

(b) Speculations ang hoardings { )

(c) Adverse balance of Payment

(@) All of the aboy (
)

Ba/Eco-501/105

(3)

5. Central Statistical Organization (CsO) was

established in the year
(@) 1949 ()
(b) 1952 ()
(c) 1950 ()

(d) 1955 ()

6. The difference between GNP and depreciation is

called
(a) gross national product ( )
(b) per capita income ( )
(c) net national product ( )
(d) None of the above ( )

7. National Institution for Transforming India (NITI)
Aayog was formed in

(a) 1st January, 2015 ( )

(b) 1st March, 2014 ()

(c) 2nd February, 2014 ()

(d) 1st April, 2015 (.
Ba/Eco-501/105



)
(4 L5

Indig emphasized on

nof )
The Sixth Five-Ye Pla B. Indicate whether the following statements ar€
8. Jselfs ustained economy ( ) True (T) or False (F) by putting a Tick (v) mark : 55
- reliant a0 x5=
@ sl ()
qlization
(o) rapid indusi 1. Low per capita income is one of the basic feature
- ation () of Indian economy.
(g poverty eradicatl
ration ( ) (T / F)

(d) employment gene

2. Cost push inflation is also known as supply

is not the method of
inflation.

9. Which of the following
quantitative credit control?
(@) Bank rate or discount rate ( .

(b) Rationing of credit ()
(c) Open market operations ( ) 3. National income is calculated by CSO.
(d) Variable reserve ratio ( ) (T / F)

1 ' i . . .
0. The number of banks nationalized in 1969 was 4. Benefits of globalization include FDI.

(T / F)
() 10 ( )
e 16 ( | ' . ‘ -
5. The biggest commercial bank in India is RBI.
@) 14 ()
(T / F)
Ba/Eco-501/105
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(6)
(7))

SECTION——II
( Marks : 10)
2. Populati
ation .
policy

ve of the following : 2
: 2x5e
\10

C. i
Write short notes 0n any fi

1. Mai
ain natural resources of India

B
a/Eco-501/105
B
a/Eco-501/105



(o' (9)

I 4. Measurement of national income

Ba/Eco-501/108 Ba/Eco-501/1086



(10) e

o )
structure 6. Objectives of Five

-Year Plan in India
5. Occupaﬁonal

Ba/Eco-501/105

Ba/Eco-501/108



(12)
(13

8. The role of RB]

7 Liberalization
1

* Rk

Ba/Eco-501/105
20L—2700

Ba/Eco-501/106



Ba/Eco-501

2019
( Sth Semester )

ECONOMICS
Paper No. : ECO-501

( Indian Economy—1I )

Full Marks : 70 Pass Marks: 45%
Time : 3 hours
( PART : B—DESCRIPTIVE )
( Marks . 45)
The figures in the mafg_in indicaté full marks
for the questions

Answer any five questions taking one from each Unit.

UNIT—I

1. Justify that India is a developing economy. 9
Or

What is meant by overpopulation? Discuss
the various methods adopted by the
Government of India to control the
population growth. 2+7=9

20L/ 105a ( Turn Over)



/1

(2) |
tay
N
. UNIT“Z‘V :
. ? Explain the varioyg b e Cemtrl e -
2. What s p;r‘:aegmmes that  have E::: Define Central Ban. Explain the fup, cions
pozzrrtt};ken in the country. 2 of RBI. 2479
- e | o 2d in by the
Examine the rationale of nationalization of didate
lain the main causes of unemployment i commercial banks in Indjg. 9 :
f:ﬁa, Suggest measures to p eduyce ‘om / BBA / BCA |
unemployment. S+q, * % & ‘om
x End Term
UNIT—III 2019
3. Discuss ﬂle main features Of Occupational ..........................
Structure in India. Has it undergone
s' . cant Challges Since 1951? 6+3=‘ ..........................
Or
Examine the growth performance of e R T i
naﬁonal iucome over ﬂle paSt decades. ‘ ..........................
UNIT—IV YpE
4 Deﬁ.‘tle p | g. Explain the maJor ObJeCtlves .......................
of Five-Year Play, i India, 2474
Or ___________________________
E i maj '
r:;g:;: ut:l ;ndja Bﬁ?aéures of new economic
. -« Drie; diseu s g of
of globalizatig, y 8s the progresé " e o
Ba/Eco-501
“0L/105s 20L—2700/105a
( Continued /
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Ba/Be/ Bs/EVS-501

2019

( Sth Semester )

ENVIRONMENTAL STUDIES

Paper No. - EVS-501

Fuil Martes s 70 Pass Marks : 45%

Time : 3 hours

The figures in the margin indicate full marks for the questions

SECTION—A

Put a Tick @ mark against the correct answer in the box )
provided : 1x15=15

l. Green plants in an ecosystem are

(@) producers O

(b) consumers O

() decomposers =

O
(d) None of the above

[P.T.O.



nmental 1SSUES

ess of envir® 5. ‘White coql’

is g i
. R followingp Ometimeg referred to which of the
N Or
nr::d to be created amote
) . (@) Geotherma] electricity O
(a) public
(b) Wind ener,
(b) womenfolk a & 5
b soadents o (c) Hydroelectricity O
(d) All of the above O | %), Biomass energy o
3. Compost manure is in the state/nature of 6. Solar energy is a type of
@ ocganic o (a) renewable energy O
(8) inorganic O (b) non-renewable energy O
@ Both (@ and (b) O (c) exhaustible energy O
(@ None of the above O . (d) All of the above a
‘ 7. An abandoned mining settlement automatically
4. The first Earth Day was celebrated worldwide on : turns to ¢
(@) April 20, 1970 ] (@) devil town a
@) April 22, 1971 [ (b) ghost town O
c) April
(¢) April 20, 1971 O (c) Both (@ and (b)) O
d) Apri
(@) April 22, 1970 O (d) None of the above O
Ba/Bc/Bs/EVS-501/10 '
/ /100 2 Ba/Bc/Bs/EVS-501/100 3 GRS



n the Indian
.+ betwee
water dispute is 1
8. Kaveri river

States of pradesh
(@) Karnataka o
(b) Kerala and Karnatak?
Tamil Nadu

(c) Kerala and
and Tamil Nadd

]
(d) Karnataka

P i
9. United Nations Environmefft Progre ¢ (UNEF) Is a

UN agency headquartered i
(@) Rio de Janeiro, Brazl O
(b) New York, USA O
(c) Nairobi, Kenya ]

(d) None of the above O

10. Yellow fever is transmitted by
(@) housefly O
(b) tsetse fly O
(¢) mosquito 0

(d) ant O

11. Th i
€ number of biogeographic zones in India is

(@) 9 O

(b) 11 O

fc) 10 O

[ 12 Qg
Ba/Bc/Bs/EVS—501/100

12. Burning of fossil fuels emits

(a) carbon dioxide ]

(b) carbon monoxide a
(c) sulfur dioxide ]

(d) chlorofluorocarbon O

13. The danger of formaldehyde is that it may cause
(a) respiratory irritant O
(b) cancer a
(c) asthma and allergies O
(d) All of the above O

14. A sudden and large increase on the size of population

is called

(@) overpopulation O

(b) optimum population =~ 0O
(c) population explosion O

(d) None of the above O

15. All of the following ways transmit AIDS, except

(a) unsafe sex O
(b) blood transmission m]
() mothers to unborn child (]

(d) mosquito bite 0
Ba/Bc/Bs/EVS-501/100 5

[P.T.O.



2.

—B
- Renewable
an
d non-renewable resources

100 words

ot more than
nn 2x5-1

A. Write on the following i
each :

1. Decomposer in an ecosystem

Ba/Bc/Bs/EVS-
VS-501/100
Ba/Bc/Bs/EVS-501/100 7 [PT.O



il 4. Causes of air pollution

3. Causes of defor®

[P.T.O.

Ba/Bc/Bs /EVS-501/100 8 )
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B. Write on the following in not more than 250 words
on growth each (any three) : 5x3=15
Factors of population
C
5. Fa 1.

Scope of environmental studies

(P.T.O.
Ba/Bc/Bs/EVS-501/100 10

11
Ba/Bc/Bs/EVS-501/ 100



2. Use and overexploitation of forest resources

[P.T.O.
Ba/Bc/Bs/EVS—SOI/loo 12

Ba/Bc/Bs/EVS—SOlIlOO 13




3. Value of biodiversity

[P.T.O.

18
0
vs-501/10!
Ba/Bc/Bs/EVS-501/100 14 Ba/Bo/Ba/E



4. Causes of soil pollution

Ba/Bc/Bs/EVS-501/100 16

[P.T.O.
Ba/Bc/Bs/EVS-501/100 17



5. Family welfare programme in India

Ba/Bc/Bs/EVS-501/100 18 Ba/Bc/Bs/EVS-501/100 19



C. Answer any three of the following questions

10x3=30
1.

Explain the definition and importance of
environmental studies.

\
!
Ba/Bc/Bs/EVS-501/100 20

; [PT.O.
‘ Ba/Bc/Bs/EVS-501/100 21



2. Give an account
ecosystems.

Ba/Bc/Bs/EVS-501/100

on the diversity of species in

Ba/Bc/Bs/EVS-501/100 25 [P.T.O.




3. Discuss the role of individual in the conservation
of natural resources,

[P.T.O.
Ba/Bc/Bs/EVS-501/100 27



f water
4. Explain the causes and ——
pollution.
|
|
|
|
|
|
\ |
[PT.O.
Ba/Bc/Bs/EVS-501/100 30

1
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